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2. 10.28
a.p=57%
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c. p=18%
n =1006
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959 confidence interval=0.18+2 x0.012=(0. 156, 0. 204)
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3.

10. 12
Data
Sample Size 1100
Number of Successes 517
Confidence Level 95%
Intermediate Calculations
Sample Proportion 0.47
Z Value -1.9600
Standard Error of the
Proportion 0.0150
Interval Half Width 0.0295
Confidence Interval
Interval Lower Limit 0.4405
Interval Upper Limit 0.4995
10. 28 a.
Data
Sample Size 1006
Number of Successes 573
Confidence Level 95%
Intermediate Calculations
Sample Proportion 0.5695825
Z Value -1.9600
Standard Error of the
Proportion 0.0156
Interval Half Width 0.0306
Confidence Interval
Interval Lower Limit 0.5390
Interval Upper Limit 0.6002




10. 28 c.

Data
Sample Size 1006
Number of Successes 181
Confidence Level 95%

Intermediate Calculations

Sample Proportion 0.1799205
Z Value -1.9600
Standard Error of the

Proportion 0.0121
Interval Half Width 0.0237

Confidence Interval

Interval Lower Limit 0.1562
Interval Upper Limit 0.2037
4.
a. oy — P, = 0.95 — 0.85 = 0.1
— o~ 0.95%x0.05 0.85%0.15
s.e. — = =0.02
(P1 — P2) \/ PR E—

95%confidence interval =0.1+1.96 x0.2=(0.292,0.492)
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